
IDEATION STATION 
PARTS LIST

This list of parts will apply to any version of this model, though
adjustments will need to be made for any customization added.

•	 Laser or CNC cut panels
•	 (2) 3.5 in x 1.5 in hinges
•	 (3) #8-32 1 in machine screws
•	 (9) #8-32 1/2 in machine screws
•	 (12) #8-32 nuts
•	 (3) 1/4 in screw posts
•	 Small handle
•	 Small handle screws
•	 Dry erase markers

•	 Whiteboard eraser
•	 Drawing supplies
•	 Wood glue
•	 Super glue


